1 BASIC
QUESTIONS



Resistance in series is
added together so if
you have 4.7ohm, 2.2
ohm and 3.3 ohm
resistors the total
resistance would then
be 4.7+2.2+3.3=10.2
ohms of resistance for
the entire circuit

Resistance in parallel can
be calculated by dividing
1 by the sum of the inverse
of each resistance so if you
have the same three
resistors it would look like
this:
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Used to simplify circuits by removing the load resistors
and measuring resistance where that resistor would be,
then shorting out the power to measure the resistance.
Then using those values to create a new circuit.



To combine capacitors in series
you divide 1 by the inverse of
each capacitors in the series.

To combine capacitors in parallel
each branch of capacitance must
be summed together

Each of these exampled in the
table

Capacitance works a lot like
resistance but it works vise versa
for series and parallel so B4 show
product over sum which can also
be used for resistance.
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0.000022
=(B2*B3)/(B2+B3)
0.000047
=1/((1/B2)+(1/B3)+(1/85))
=(B5*B4)/(B5+B4)
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0.000079




1

When combining inductors are Ly = [ 1
done exactly the same as Lo b
resistors within calculations as L1 L2 L3
shown in the figures and is

represented by L. Parallel Circuits
During simulation the single [ ;X [_2
frequency and equation must LT = —
be used to obtain the total I_1 -+ L2

inductance which depends on

the frequency.
Lo=L+L+..L
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